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Seating Arrangement- Triangular

Directions (1-5) : Answer the questions based on the Computer. L sits second to the right of K, who likes

information given below: English.

There are six persons J, K, L, M, N and O are sitting 1. What is the position of J with respect to who

around a triangular table such that three of them sit at the likes chemistry?
corners and other three of them sit on the middle side of
the table. The one who sit at corner of the table faces
away from the centre and the one who sits at middle side (b) Second to left
of the table faces towards the centre. They like different
subjects i.e. Reasoning, English, Quant, Physics,
Chemistry, and Computer but not necessarily in the same (d) Third to right
order.

(a) Immediate left

(c) Second to right

(e) Cannot be determined
M faces the centre and sits third to the right of the one

who likes Physics. N sits immediate right to M. N does | 2. What s the position of K with respect to M?

not like Chemistry and Reasoning. The one who likes
Reasoning sits at corner. The one who likes Computer
sits immediate right to the one who likes Chemistry. O (b) immediate left
sits at one of the corner but does not like Physics and

(a) second to right
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(c) third to right
(d) second to left
(e) immediate right
3. Who likes Chemistry subject?
@o
(b)yM
(c)J
(d) N
(e) L
4. Who is third to the left of who likes Reasoning?
@0
(b) K
(c)N
(d)J
(e) L
5. N likes which subject?
(a) Chemistry
(b) Reasoning
(c) Computer
(d) Quant
(e) None of these

Directions (6-10) : Answer the questions based on the
information given below:

Six persons S, T, U, V, W and X are sitting in a
triangular table. Three of them sitting at corner while
other three are sits at the middle of the side. Some of
them facing centre and some of them facing outside the

centre. Each of them have saving accounts in different
banks Hdfc, SBI, Canera, PNB, BOB and BOM.

The one who has saving account in Hdfc sits immediate
right to one who has saving account in PNB. X has
saving accounts in Canara. U and one who has saving
account in SBI both are facing opposite direction. W sits
at corner and faces centre. The one who has saving
accounts in SBI sits second to the left of W. U sits
second to the left of S who faces outside. S is an
immediate neighbor of W. S has saving account in BOB.
The one who has saving account in BOB sits immediate
left of V. T and W are facing opposite directions. The
one who has saving account in Hdfc and the one who has
saving account in BOB and both are facing same
directions. W sits third to right of X who facing inside.

6. What is the position of W with respect to V?
(@) third to right
(b) second to right
(c) third to right
(d) fourth to right
(e) Cannot be determined

7. What is the position of S with respect to who
has saving account in BOM?

(a) second to right
(b) immediate left
(c) third to right
(d) second to left
(e) immediate right

8. Who sits second to right of one who has saving
account in Canara?

@s
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(b)yu
() X
@T
(e) Cannot be determined

9. Who is sitting third to the left of one who has
saving account in SBI?

(@ X
(b) S
(U
(d) W
(e)V

10. W sits opposite to who has saving account in?
(a) PNB
(b) Hdfc
(c) Canara
(d) BOB
(e) SBI

Directions (11-15) : Answer the questions based on
the information given below:

There are six persons J, K, L, M, N and O are sitting
around a triangular table such that three of them sit at the
corners and other three of them sit on the middle side of
the table. The one who sit at corner of the table faces
away from the centre and the one who sits at middle side
of the table faces towards the centre. They belong
different cities i.e. Noida, Delhi, Bhopal, Agra, Indore,
and Jaipur but not necessarily in the same order.

The one who belongs to Agra sits second to the right of
K. O does not belongs to Bhopal. Two people sit
between the one who belongs to Bhopal and the one who

belongs Delhi. Two people sits between J and who
belongs to Noida. The one who belongs to Delhi sits
second to the right of the one who belongs to Noida. N
belongs to Jaipur and sits second to the right of the one
who belongs to Indore. M faces to the centre. L sits
immediate left of the one who belongs to Bhopal. K and
M are not immediate neighbors.

11. Who sits to the immediate left of L?
@O
(b)yM
©K
(d)J
(e) None of these

12. Who sits second to the left of who belongs from
Agra?

@ o

(b) K

M

dL

(e) None of these
13. N is sitting third to the left of who belongs to?

(a) Agra

(b) Jaipur

(c) Bhopal

(d) Noida

(e) None of these

14. Who is sitting second to the right of who belongs
to Jaipur?
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(@ O
(b) J
(oM
(d) L
(e) None of these

15. How many persons sits between K and N from
right of N?

(@) One

(b) Four
(c)Three

(d) Six

(e) None of these

Directions (16-20) : Answer the questions based on
the information given below:

There are nine persons A, B, C, D, E, G, Hand | are
sitting around a triangular table facing the centre and all
of them sitting in alphabetical order in the clockwise
directions. One person sitting in corner of each side and
two person sitting in middle side of each side. Each
person likes different mobile phones i.e. Redmi, Oppo,
Iphone, Realme, Vivo, Nokia, Samsung, Poco and
Oneplus but not necessarily in the same order.

The one who likes Redmi sits third to the right of C. The
one who likes Vivo sits second to the right of C who
likes Nokia. C sits at one of the corners. There are two
persons sit between who likes Poco and Redmi. The one
who likes Realme sits to the immediate left of who likes
Oppo and neither of them likes E nor D . There are two
persons sit between the one who likes Oppo and the one
who likes Iphone. The one who likes Samsung is either B
or I. I sits at one of the corners.

16. What is the position of F with respect to 1?

(@) third to right

(b) second to left

(c) third to right

(d) fourth to right

(e) Cannot be determined

17. What is the position of A with respect to who
likes Samsung?

(a) second to right
(b) immediate left
(c) third to right
(d) second to left
(e) immediate right
18. Who likes Realme mobile phone?
(@) A
(b) H
()G
(d)B
(e)E
19. Who sits second to the right of who likes Oppo?
@F
(b) A
(©H
(dE
(e) B
20. Who sits third to left of the who likes Oneplus?
(a) F
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(b)C
(c)H
(d)B
(€)G

Directions (21-25) : Answer the questions based on
the information given below:

There are eight persons A, B, C, D, E, F, G and H sitting
around a triangular table and all are facing towards the
centre but not necessarily in the same order. One person
sit on each corner, two person sit at each inclined side
and only one person sit on horizontal side of triangle.
Each one of them studying in different institutions i.e.
IIT, NIT, IBM, BHU, JNU, DU, SMU and AMU but not
necessarily in the same order.

The person who studying in HT is an immediate
neighbor of both the persons who studying in DU and
SMU. The person who studying in SMU sits third to the
right of B. B does not studying in JNU. C sits to the
immediate right of the person who studying in IBM. A
does not like IBM. F is not an immediate neighbor of A.
G is not an immediate neighbor of the person who
studying in HIT. A sits third to the right of who studying
in AMU. Neither A nor H studying in JNU and NIT. The
one who studying in JNU is not an immediate neighbor
of the person who studying in AMU. The person who
studying in 1T sits second to the left of E. E is not an
immediate neighbor H. Only two people sit between the
person who studying in AMU and H. The one who
studying in AMU and JNU sits at corner. The person
who studying in JNU and the NIT are immediate
neighbors of each other.

21. Who is to the immediate left of who studying in
AMU?

@D

(b) G

(c)B
(dyH
(e) E
22. Who sits second to the left of D?
(@B
(b) A
©G
(d)F
(e) None of these

23. Who is sitting third to the left of who studying in
BHU?

@ C
(b)H
(© A
(d)F
(e) None of these
24. Who is sitting second to the right of D?
(a) H
(b)B
(©C
(d)F
(e) None of these

25. Who sits third to the right to who studying in
IBM?

@D

(b)G
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(c)C (d) second to left
(dH (e) immediate right
(e) None of these 28. Who sits third to right the who borns in 1996?

Directions (26-30) : Answer the questions based on (@E
the information given below: (b) A

There are six people A, B, C, D, E and F are sitting () C
around a triangular table in such a way that three of them
sit at corner and other three sit on the middle of side of (dE
the table. All of them facing towards the centre. They (6) F
have born in different years i.e. 1992, 1993, 1994, 1995,
1996 and 1997 but not necessarily in  the same order. 29.Who sits immediate right of who borns in 19947

F sits at one of the corners of the table. C sits at one of (a) Who borns in 1995
the corners and either born in 1992 or 1996. The one

who sits immediate right of C borns in 1995 and A sits
opposite of the one who born in 1995. A does not born in (c) Who borns in 1993
1997. E does not sit at any corners and does not born in
1996 or 1994. D sits immediate left of A and born in

1993. The one who born in 1996 does not sit on any (e) Who borns in 1997
corners of the table.

(b) Who borns in 1996
(d) Who borns in 1992

30.How many person sit between A and E from
26. What is the position of D with respect to who right of E?

borns in 19927
(a) Six
(@) third to right
(b) Four
(b) second to left
(c) None
(c) third to left
(d) Two
(d) fourth to right
(e) Three
(e) Either option (a) or (c)
Directions (31-35) : Answer the questions based on
27.What is the pOSitiOﬂ of F with respect to who the information given below:

borns in 1993?
There are six persons A, B, C, D, E and F are sitting

(a) second to right around a triangular table such that three of them sit at the
(b) third to right corners and other three of them sit on the middle side of

the table. The one who sit at corner of the table faces

(c) immediate left towards the centre and the one who sits at middle side of
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the table faces away from the centre. They like different
colours i.e. Black, Green, White, Pink, Red and Blue but
not necessarily in the same order.

The one who likes Black sits at corner of the table. E
does not sit at corner. A likes neither Pink nor Blue.
There are no one sits between the one who likes Black
and F. A sits second to the right of one who likes Black.
C likes Green. Only one person sits between the one who
likes Black and D. One who likes Blue sits immediate
right of one who likes Pink. B does not sit adjacent to A.
One who likes Red sits second to the right of the one
who likes Blue.

31. Who sits to the immediate right of who likes Red?
(@ A
(b) D
(©F
dB
() C
32. Who among the following likes Pink?
(@ C
(b) A
() F
(d)B
(e) D
33. Who sits third to the left of who likes Green?
@F
(b) A
(©E
(d)B

(e) D
34. Which colour B likes?
(a) Green
(b) Black
(c) Pink
(d) White
(e) Blue

35. How many persons sit between who likes Blue and
White from left of White?

(@) One
(b) Four
(c) Six
(d) Two
(e) Three

Directions (36-40) : Answer the questions based on
the information given below:

There are six persons A, B, C, D, E and F are sitting in a
triangular table. Three of them sit at corner of the table
facing towards the centre and three of them sit at the
middle side of the table facing away from centre. Each of
them belongs from different sports i.e. Cricket, Football,
Tennis, Volleyball, Wrestling and Boxing but not
necessarily in the same order.

D sits second to the right of F. F sits immediate left to
the person who belongs to Football. C sits second to the
left of B who sits immediate right of A. Person who
belongs to Wrestling faces outside the centre and sits
immediate left to the one who belongs to Tennis. A and
F do not belongs to Tennis. E does not belongs to
Volleyball or Boxing. A does not belongs to Boxing. A
and D don’t belongs to Wrestling. B does not belongs to
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Tennis. D sits at one of the corner of the table. Only one
person sit between E and one who belongs to Football.

36. Who sits to the immediate left of who belongs to
Volleyball?

(@ E
(b) B
(c)D
dcC
(e)F

37. Who sits to the second to left of who belongs to
Wrestling?

(@) F
(b)B
(o E
(d)D
(e) A

38. Who sits second to the right of F?
(a) Who belongs to Wrestling
(b) Who belongs to Tennis
(c) Who belongs to Cricket
(d) Who belongs to Volleyball
(e) Who belongs to Football

39. Who is second to the left of who belongs from
Football?

@E
(b) D

(© A

(d)C
(e)F

40. How many persons are between D and the one
who play Boxing when counted from the right of D?

(@) One
(b) Two
(c) Three
(d) Four
(e) None

Directions (41-45) : Answer the questions based on
the information given below:

Six friends A, B, C, D, E and F are sitting around a
triangular table in such way that three of them are at the
corners and other three are at the middle of each side of
the table. All are facing away from the center of the
table. They obtained different marks in IBPS exam i.e.
55, 60, 65, 70, 75 and 80 not necessarily in the same
order.

E sits at middle of the one of the side of the table and his
marks is either 60 or 70. F is at one of the corners but not
immediate to E and his marks is neither 55 nor 75. The
marks of the one who is immediate left of F is 70. A's
marks is 80 and he is immediate right of B . D sits at one
of the corners of the table and his marks is less than C's
marks. The marks of the one who is immediate right of E
is not 55.

41. Who is sitting third to the right of A?
(@B
(b)E
(c)D
@dcC
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(e) None of these

42. What is the position of B with who obtains 75
marks?

(@) Immediate right
(b) Immediate left
(c) Third to the right
(d) Third to the left
(e) None of these

43. What is A’s position with respect to who obtains
55 marks?

(@) Third to the right
(b) Second to the right
(c) Immediate right
(d) Second to the left
(e) Third to the left

44. Who is sitting third to the right of who obtains 65
marks?

() B
(b) F
() A
dC
(e)E

45. Which one of the following statements is true
according to the above mentioned arrangement?

(a) A obtains 65 marks.
(b) B obtains 55 marks.
(c) C obtains 75 marks.
(d) F obtains 70 marks.

(e) None of these

Directions (46-50) : Answer the questions based on
the information given below:

Six doctors P, Q, R, S, T and U are sitting around a
triangular table in such a way that three of them are at
the corners and rest of them are at the center of each side
. All of them are facing the center of the table . They
work in different hospitals AIIMS, LNJP, MAX; Fortis,
RML and KGMU not necessarily in the given order .

P sits at one of the corner of the table and does not work
in MAX. U does not works in Fortis. P and S are
immediate neighbours. There are two doctors sit between
S and who works in AIIMS. U sit third to right of one
who works in MAX. There are only one person sit
between one who works in AIIMS and MAX. T does not
work in MAX or AIIMS. There are two doctors sit
between who works in LNJP and one who works in
RML. T does not works in LNJP. The one who works in
Fortis sits immediate left of Q.

46. Who is to the immediate left of who works in
LNJP?

(@ P
(b) U
(©R
(d)s
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(e) None of these @SandT

47. Who works in AIIMS hospital? (b)Uand Q
(@Q (c)SandP
(b) U (d)Rand U
©T (e) None of these

dR 50. Who is sitting fourth to the right of who works in

KGMU hospital?
(e) None of these P

a)R
48. Who is sitting third to the left of S? @

@R (b) P
(©) S

d)Q
T

(o) T
(c)uU
d)Q
(e) None of these

49. Who is immediate neighbors of who works in
MAX hospital?

Solution and Detailed Explanation

SOLUTI ON(l-S) [Physics]
Explanation in detail:

1. M faces the centre and sits third to the right of the
one who likes Physics.
2. N sits immediate right to M.

v III N\

N

3. N does not like Chemistry and Reasoning.
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4. The one who likes Reasoning sits at corner.
J [Phvsics]

[Phwsics]

/ N\

/ T \] O [Reasoning] M [,Lhemistry] N [Computer]
M N

[Feasoning]

5. The one who likes Computer sits immediate right | Final arrangement:
to the one who likes Chemistry.

[Phwsics] T [Physics]

\) O [Reasoning] M [,Lhemistry] N [Computer]

/

[Eeasoning] M [Cl[emistry] N [Computer]

6. O sits at one of the corner but does not like
Physics and Computer.
7. L sits second to the right of K, who likes English.

SOLUTION(6-10):

Explanation in detail:
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1. W sits at corner and faces centre. 8. T and W are facing opposite directions.
2. W sits third to right of X who facing inside. 9. The one who has saving accounts in SBI sits
3. X has saving accounts in Canera. second to the left of W.

W

/ 1 T .V [SBI]
X [Canera] X [Canera]

4. Sis an immediate neighbor of W.
! ! . ! |g 10. The one who has saving account in Hdfc and the
5. S has saving account in BOB.

6. U sits second to the left of S who faces outside. one_ who has S.a vmg account in BOB and both are
facing same directions.

11. The one who has saving account in Hdfc sits
immediate right to one who has saving account in
PNB.

12. U and one who has saving account in SBI both
are facing opposite direction.

W [BOM]

T . V[SBI]

7. The one who has saving account in BOB sits ¥ [Canera]
immediate left of V.
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Final arrangement:

W [BOM]

“\4 V[SBI]

10. ¢
SOLUTION(11-15):

Explanation in detail:

1. L sits immediate left of the one who belongs to
Bhopal.
. Two people sit between the one who belongs to
Bhopal and the one who belongs to Delhi.

. The one who belongs to Delhi sits second to the
right of the one who belongs to Noida.

. Two people sits between J and who belongs to
Noida.
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T [Indore]

[Bhopal] L [Jaida] N [Taipur]

5. N belongs to Jaipur and sits second to the right of

the one who belongs to Indore.
g 6. M faces to the centre.

7. Kand M are not immediate neighbors.
8. The one who belongs to Agra sits second to the
right of K.
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Final arrangememnt:

J [Indore]
T [Indore]

L [Noida] M [Jl\hopal]

M [Il\hopal]

11.

12.

13.

14. ¢

15. b
SOLUTION(16-20):

Explanation in detail:

. The one who likes Vivo sits second to the right of
C who likes Nokia.

/ £ \: . Csits at one of the corners.

O [Bhopal] L [Noida] . The one who likes Redmi sits third to the right of

C.

9. O does not belongs to Bhopal.

So CASE?2? is cancelled out

Page 15 of 25
Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in




exampundif

Success Pantuer

Expected Seating Arrangement- Triangular (Two tier) for Mains Exam

E [Oneplus] G [Oppo]

D [Iphone] H [Realme]

/ ’[ N

C [Nokia] [Vivo]

[Feedmi]

. There are two persons sit between who likes Poco
and Redmi.

. All of them sitting in alphabetical order in the
clockwise directions.
6. | sits at one of the corners.

F [Poco]

D

AT ]

C [Nokia] A [Vivo]

[ [Redmi]

. The one who likes Realme sits to the immediate
left of who likes Oppo and neither of them likes
E nor D.

. There are two persons sit between the one who
likes Oppo and the one who likes Iphone.

. The one who likes Samsung is either B or 1.

1 T N
C [Nokia] B [Samsung] A [Vivo] I [Fedmi]

Final arrangement:

E [Oneplus] G [Oppo]

D [Iphone] H [Fealme]

T TN

B [Samsung] A [Vivo]

C [Nokia] I [Redmi]

Page 16 of 25

Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in




exampundif

Success Pantuer

Expected Seating Arrangement- Triangular (Two tier) for Mains Exam

SOLUTION(21-25):
Explanation in detail:

. Asits third to the right of who studying in AMU.

. The one who studying in AMU and JNU sits at
corner.

. Only two people sit between the person who
studying in AMU and H.

. The person who studying in JNU and the NIT are [NIT]
immediate neighbors of each other. / \
Neither A nor H studying in JNU and NIT. [AMU]

. The one who studying in JNU is not an
immediate neighbor of the person who studying
in AMU.

7. The one who studying in AMU and JNU sits at
corner.

So CASE?2? is cancelled out.

8. The person who studying in IIT sits second to the
left of E.

9. Eisnot an immediate neighbor H.

10. The person who studying in IIT is an immediate
neighbor of both the persons who studying in DU
and SMU.

11. The person who studying in SMU sits third to the
right of B.

12. B does not studying in JNU.

CASEla:
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CASE1lb: CASE1b:

[IIT]

A

rim AN [SMU] A
/! [im AN

13. C sits to the immediate right of the person who E [AMU]
studying in IBM.

14. A doesnot like IBM.

[INU]

There is no such space for C in CASE1b so CASElb
is cancelled out.

15. F is not an immediate neighbor of A.
CASEla: 16. G is not an immediate neighbor of the person
who studying in IIT.

CASEla:
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Final arrangement:

21. e

22. ¢

23.a

24.d

25.b
SOLUTION(26-30):
Explanation in detail:

. C sits at one of the corners and either born in
1992 or 1996.

. The one who sits immediate right of C borns in
1995.

. A sits opposite of the one who born in 1995.

C [1992/1996] [11\95]

4. F sits at one of the corners of the table.
5. D sits immediate left of A and born in 1993.

D [1993]

[11\95] A

. A does not born in 1997.
E does not sit at any corners and does not born in
1996 or 1994,

. The one who born in 1996 does not sit on any
corners of the table.

C [1992/1996]

A [1994]

B [1996] D [1993]

1‘ N
E [1995] F [1997]
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Final arrangement:

A [1994]

B [1996] D [1993]

C [1992] F [1997] /

[Black]
26. e

27 ¢ . One who likes Blue sits immediate right of one
who likes Pink.

28. e . One who likes Red sits second to the right of the
one who likes Blue.

29.b . A likes neither Pink nor Blue.

30. d
D [Pink]
SOLUTION(31-35):

Explanation in detail:

. The one who likes Black sits at corner of the
table.

. Asits second to the right of one who likes Black.

. Only one person sits between the one who likes
Black and D.

/!

[Black]

7. C likes Green.

8. F does not like Black.

9. There are no one sits between the one who likes
Black and F.
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!
[Black] C [Green]

10. B does not sit adjacent to A.
11. E does not sit at corner.

D [Pink]

N

A

Final a

31.
32.
33.
34. b
35. d

rrangement:

SOLUTION(36-40):

Explanation in detail:

1.
2.
3.

D sits second to the right of F.

D sits at one of the corner of the table.

F sits immediate left to the person who belongs to
Football.

/!

F
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. C sits second to the left of B who sits immediate
right of A.

. One person sit between E and one who belongs to
Football.

B [Football]

B [Football] /
F C [Wrestling]

10. A does not belongs to Boxing.
11. A and D don’t belongs to Wrestling.

Person who belongs to Wrestling faces outside A [Volleyball]
the centre and sits immediate left to the one who
belongs to Tennis.

. Aand F do not belongs to Tennis.

B [Football]

B [Foothall] /

F [Boxing] C [Wrestling]

yé N\

F C [Wrestling] D [Tennis]

8. E does not belongs to Volleyball or Boxing.
9. B does not belongs to Tennis.
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Final arrangement:

A [Volleyball]

B [Football] E [Cricket]

/

F [Bozing] C [Wrestling]

36.

37.

38.

39.

40.
SOLUTION(41-45):
Explanation in detail:

1. E sits at middle of the one of the side of the table
and his marks is either 60 or 70.
2. Fis at one of the corners but not immediate to E.

E [60/70]

v

3. The marks of the one who is immediate left of F
is 70.

4 N

F

. A's marks is 80 and he is immediate right of B.

. D sits at one of the corners of the table.

. The marks of the one who is immediate right of E
is not 55.

. F’s marks is neither 550r 65.

v N

A [80] 5 F

8. D’s marks is less than C's marks.
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3. There are two doctors sit between S and who
works in AIIMS.

[AIIMS]

e

/! ! \

P

Final arrangement: . There are only one person sit between one who
works in AIIMS and MAX.

P does not work in MAX.

U sit third to right of one who works in MAX.

[ATIMS]

41.

/! ! \

[MAX]

42. P

43 7. T does not work in MAX or AIIMS.

44. 8. There are two doctors sit between who works in
LNJP and one who works in RML.

45. 9. T does not works in LNJP.
SOLUTION(46-50): 10. ;I'fhgone who works in Fortis sits immediate left

Explanation in detail:

1. P sits at one of the corner of the table.
2. P and S sits immediate right to each other.

Page 24 of 25
Subscribe The Xpress Video Course & Mock Test Package for Bank & Insurance Exams

If there are any suggestions/ errors in our PDFs Feel Free to contact us via this email: admin@exampundit.in




exampundif

Success Pantuer

Expected Seating Arrangement- Triangular (Two tier) for Mains Exam

Final arrangement:
E [AIIMS]

R [AIIMS]
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